Die 17er - Reihe uben (offene Frage)

Das grofie Einmaleins

Aufgabe 1 Aufgabe 2

. 8 e« 17 = .9 « 17 =
2. 6 ¢ 17 = 2.1 e 17 =
3. 10 « 17 = 3. 10 « 17 =
4 2 e« 17 = 4 Foe 17 =
5 8 e« 17 = 5 5 e 17 =
6 Foe 17 = 6. 5 e 17 =
7 1 « 17 = o002 e 17 =
8. 6 e 17 = 8 7o 17 =
9. 10 « 17 = 9. 10 « 17 =
0. 6 e« 17 = 0. 7 ¢ 17 =
Aufgabe 3 Aufgabe 4

.10 « 17 = . 8 e« 17 =
2. 8 e 17 = 2,10 « 17 =
3 1 « 17 = 3. 10 « 17 =
4o 6 0 17 = 4o 6 o 17 =
5 4 o 17 = 5 7 e 17 =
6. 4 o 17 = 6. 10 « 17 =
o6 o 1F = 7.3 e 17 =
8 3 e 17 = 8 9 e 17 =
9. 9 e 17 = 9. 3 e 17 =
0. 7 ¢ 17 = 10, 10 « 17 =
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Die 17er - Reihe iiben (offene Frage) | ANTWORTEN

Das grofie Einmaleins

Aufgabe 1 Aufgabe 2

. 8 e 17 = 136 .9 e« 17 = 153
2. 6 ¢ 17 = 102 2.1 e 17 = 17
3010 « 17 = 170 3. 10 « 17 = 170
4.2 ¢ 17 = 34 4o F e 17 = 119
5 8 e 17 = 136 5 5 e 17 = 85
6. F e 17 = 119 6. 5 e 17 = 85
7 1 o 17 = 17 o002 e 17 = 34
8 6 e 17 = 102 8 7 e 17 = 119
9. 10 « 17 = 170 9. 10 « 17 = 170
0. 6 « 17 = 102 0. 7 e« 17 = 119
Aufgabe 3 Aufgabe 4

.10 « 17 = 170 1. 8 e 17 = 136
2. 8 ¢ 17 = 136 2. 10 « 17 = 170
3.1 e« 17 = 17 3. 10 « 17 = 170
4o 6 e 17 = 102 4o 6 ¢ 17 = 102
5 4 e 17 = 68 5 7 e 17 = 119
6. 4 o 17 = 68 610 « 17 = 170
o6 e 17 = 102 7.3 e 17 = 51
8 3 e 17 = 51 8 9 e 17 = 153
9.9 e 17 = 153 9. 3 e 17 = 51
0. 7 e« 17 = 119 0. 10 « 17 = 170
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